
Unit-V 

Travelling Wave 



Open-Circuit Line Termination 

• Open circuit at receiving Zt= infinite     

• Boundary condition for current i=0 

• Therefore if=-ib 

 

• Vb=Zcib=Zif=vf 

 

• Thus total voltage at the receiving end 
v=vf+vb=2vf 

 

• Voltage at the open end is twice the forward voltage wave 







Short Circuit Line Termination 

• Boundary condition for current v=0 

• Therefore vf=-vb 

• If=vf/Zc=-(vb/Zc)=ib 

• Thus total voltage at the receiving end 
v=if+ib=2if 

• Current at the open end is twice the forward current 
wave 

 







Thanks 


